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1. If (42) and (k-3) are conjugate points with respect to

z? 4+ y> — 5z + 8y + 6 = 0 them k=

Answer: A


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tx34zyprv8mU

° Watch Video Solution

2.The area (in sq units) of the triangle formed by the tangent, normal at

(1, \/g) to the circle z? + y2 = 4 and the X-axis, is

A 4./3

Answer: C

o Watch Video Solution

3. The value of a, such that the power of the point (1, 6) with respect to

thecircle 2 + y> + 4z — 6y —a = 0 is-161is

A7


https://dl.doubtnut.com/l/_tx34zyprv8mU
https://dl.doubtnut.com/l/_5FWBeuy591nK
https://dl.doubtnut.com/l/_o4w2mptNUBfw

B. 1

D. 21

Answer: D

° Watch Video Solution

4.The sum of the minimum and maximum distances of the point (4,-3) to
the circlex"2 +y”"2+4x-10y-7=0

A.10

B. 12

C.16

D. 20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_o4w2mptNUBfw
https://dl.doubtnut.com/l/_1wsP3ZznLtSk

51f 2 —y+ 1 = 0 meets the circle 2 + 3> +y—1=0at Aand B,
then the equation of the circle with AB as diameter is

A2(z*+y*) +3z—y+1=0

B.2(z" +4°) +3z —y+2=0

C.2(:1:2+y2) +3x—-—y+3=0

D.z? + ¢y +3z —y+1=0

Answer: A

o Watch Video Solution

6. A circle with centre at (2, 4) is such that the line x+y+2 =0 cuts a chord

of length 6. The radius of the circle is

A.\/éﬁcm
B.\/ﬁcm


https://dl.doubtnut.com/l/_1wsP3ZznLtSk
https://dl.doubtnut.com/l/_IBSaIFYxEcHC
https://dl.doubtnut.com/l/_2QyOhQc8jP9t

C.\/ﬁcm

D. /31 cm

Answer: A

° Watch Video Solution

7. The condition for the lines Ix + my + n =0 and [y + my + n; = 0 to

be conjugate with respect to the circle 2 + y? = rz, is
Jug P Y

A3 (11 + mm4) = nny
B.72(11; — mm,) = nmy
C.r*(11y + mmy) + nny =0

D.7%(1my + 1;m) = nny

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_2QyOhQc8jP9t
https://dl.doubtnut.com/l/_91VSKW2yPrZT
https://dl.doubtnut.com/l/_pVzweLaOtwiK

8.The circle 4z? + 4y? — 122 — 12y + 9 = 0

A. toches both the axes
B. touches the x-axis only
C. touches the y-axis only

D. does not touch the axes

Answer: A

o Watch Video Solution

9. For the circle C with the equation z? + ¢ — 16z — 12y + 64 = 0

match the List | with the List Il given below,


https://dl.doubtnut.com/l/_pVzweLaOtwiK
https://dl.doubtnut.com/l/_dj65zMVkrSMC

List I List II
(i)  The equation of the polar (A) y=0
of (-5, 1) with respect to C
(i) The equation of the tangent (B) y =6
at (8,0) toC
(iti) Theequation of thenormal (C) z+y=7
at (2,6) toC
(iv) Theequation of the diameter (D) 13z + 5y = 98
of C through (8, 12)
(E) z=238

The correct match is
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Answer: B

° Watch Video Solution

10. If the length of the tangent from (h,k) to the circle z? + y2 =16 is

twice the length of the tangent from the same point to the circle


https://dl.doubtnut.com/l/_dj65zMVkrSMC
https://dl.doubtnut.com/l/_DYxt8Hrwic3w

z? 4y + 2z + 2y = 0, then

AR+ K +4h+4k+16=0
B.h24+k*+3h+3k=0
C.3h> +3k> +8h +8k+16 =0

D.3h2 + 3k% +4h + 4k +16 =0

Answer: C

o Watch Video Solution

11. Given the circle C with the equation z® + y* — 2z + 10y — 38 = 0.

Match the List | with the List Il given below concerning C.


https://dl.doubtnut.com/l/_DYxt8Hrwic3w
https://dl.doubtnut.com/l/_CX07KPfC3BX3

List I List II
A. The equation of the polar of 1. y+5=0
(4, 3) with respect to C
B. Theequation of the tangent at II. x =1
(9,-5) on C
C. The equation of the normal at II1. 3x + 8y = 27
(-7,-5) on C
D. Theequation of the diameter of IV. z+y =3
C passing through (1, 3)
V. =9

The correct answer is

AA B C C
"I IV OII

Answer: C

° Watch Video Solution

12. Consider the circle z* 4+ y?> — 4z — 2y + ¢ = 0 whose centre is A2, 1)

If the point P (10, 7) is such that the line segment PA meets the circle in Q


https://dl.doubtnut.com/l/_CX07KPfC3BX3
https://dl.doubtnut.com/l/_hpMcT4D3LXat

With PQ=5, then c=

A.-15

B. 20

C.30

D.-20

Answer: D

o Watch Video Solution

13. If the line x+3y=0 is tangent at (0,0) to the circle of radius 1, then the

centre of one such circle is

A. (3,0)

s, [ =L i)
V10 /10
(3 —_3>
V10 /10
o (L i)
V10 /10


https://dl.doubtnut.com/l/_hpMcT4D3LXat
https://dl.doubtnut.com/l/_9QJYqZyFD2Up

Answer: D

° Watch Video Solution

14. The radius of the circle r = 12cos @ + 5sinf is

Answer: D

° Watch Video Solution

15. If the line y=2x+c is a tangent to the circle 2 4 y* = 5 then a value of

cis


https://dl.doubtnut.com/l/_9QJYqZyFD2Up
https://dl.doubtnut.com/l/_GpSpYtyCaRXR
https://dl.doubtnut.com/l/_Bo6Zk6LrZoRv

A2

B.3

C.4

D.5

Answer: D

o Watch Video Solution

16. A line segment AM=a moves in the XOY plane such that AM is parallel
to the X-axis. If A moves along the circle z2 + y* = a2, then the locus of
M is

A z? + y? = 4a®

B.z2 + y2 = 2azx

cz?+ y2 = 2ay

D.z? + y2 = 2ax + 2ay


https://dl.doubtnut.com/l/_Bo6Zk6LrZoRv
https://dl.doubtnut.com/l/_vlfUOhuEtW9C

Answer: B

° Watch Video Solution

17. If the lines 3x+4y-14=0 and 6x+8y+7=0 are both tangents to a circle,

then its radius is

>
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Answer: C

° Watch Video Solution

18. The equation of the «circle concentric with the circle

z? + y* — 6z + 12y + 15 = 0 and of double its area is:


https://dl.doubtnut.com/l/_vlfUOhuEtW9C
https://dl.doubtnut.com/l/_Kz3ka2fe8Ife
https://dl.doubtnut.com/l/_S5NOveQnPqsT

Azl+y? —6x+12y—15=0
Bz + 942 —6z+12y—30=0
Czl+y?—6z+12y—25=0

D.z2’2+y*> —6z+ 12y —20 =0

Answer: A

° Watch Video Solution

19. The length of the common chord of the circles of radii 15 and 20,

whose centres are 25 unit of distance apart, is

A 12

B.16

C.24

D. 25

Answer: C



https://dl.doubtnut.com/l/_S5NOveQnPqsT
https://dl.doubtnut.com/l/_opVVedpBGrkc

| o Watch Video Solution

20.The equations of the circles which pass through the origin and makes
intercepts of lengths 4 and 8 on the x and y axis respectively, are :

Az +y> t4z+8y=0

B.al+ 1y’ +2x+4y=0

Cx?+y*+8+16y=0

D.z’+y’+tax+ty=0

Answer: A

o Watch Video Solution

21. The locus of centre of a circle which passes through the origin and

cuts off a length of 4 units from the line x=3 is

Ay’ +6z=0


https://dl.doubtnut.com/l/_opVVedpBGrkc
https://dl.doubtnut.com/l/_3N2FNnCty5bn
https://dl.doubtnut.com/l/_DkizI03EPbjl

B.y> + 6z = 13

C.y? + 6z = 10
D.z? + 6y = 13
Answer: B

° Watch Video Solution

22.The diameters of a circle pre along 2x+y-7=0 and x+3y- 11=0. Then, the
equation of this circle, which also passes through (5,7) is:
Az?+y?—4dz —6y—16=0
B.x?+y?> —4x —6y—20=0
Cal4+y?—4e—6y—12=0

D.z? 4+ ¢y + 4z + 6y — 12 =0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DkizI03EPbjl
https://dl.doubtnut.com/l/_z4cRbhinBrQO

23.If the lines 2x -3y=5 and 3x-4y=7 are two diameters of a circle of radius
7, then the equation of the circle is

Azl +y?+2c —4y—47=0

B.z? 4 y* = 49

Czl4+y> 20 +2y—47=0

D.z? + ¢y = 17

Answer: C

o Watch Video Solution

24. The inverse of the point (1, 2) with respect to the circle

2> +y? —4z —6y+9=0is


https://dl.doubtnut.com/l/_z4cRbhinBrQO
https://dl.doubtnut.com/l/_J51c8ZBYhYUt
https://dl.doubtnut.com/l/_mmomw7EtO2w4

C.(0,1)

D.(1,0)

Answer: C

° Watch Video Solution

25. If 0 is the angle between the tangents from (-1,0) to the circle

2> +y? —5cx +4y—2=0, then 6=

A.2tan"* (%)
B.tan ! (%)
C.2cot ! <%>
D. cot (%)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mmomw7EtO2w4
https://dl.doubtnut.com/l/_wllhIBHOlj8e
https://dl.doubtnut.com/l/_9V0ULC2Sf5pC

26. The radius of the circle
r* — 8r(y/3cosf + sinf) + 15 = 0is
A.8
B.7
C.6

D.5

Answer: B

with

the

polar

equation

o Watch Video Solution

27.The equation of the circle of radius 3 that lies in the fourth quadrant

and touching the lines x=0 and y=0 is

Az+y? —6x+6y+9=0

Bz’ +y? -6z —6y—9=0

Cal4+y’+6z—6y+9=0


https://dl.doubtnut.com/l/_9V0ULC2Sf5pC
https://dl.doubtnut.com/l/_HGSGldT2nt03

D.z? + 3y + 6z +6y+9=0

Answer: A

° Watch Video Solution

28.The polar equation of the circle with centre (2, %) and radius 3 units
is

A.7? 4 4rcosh =5

B.r> + 4rsinf = 5

C.r’ —4rsinf =5

D.72 — 4rcosf = 5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HGSGldT2nt03
https://dl.doubtnut.com/l/_3DtK5cFTnHXH

29. The number of common tangentss to the circles
22+ y? -8z +2y=0and 2 +y®> — 2z — 16y + 25 =0is

A1l

B.2

C.3

D.4

Answer: B

o Watch Video Solution

30. Statement | The circle 2 + y? — 6z — 4y — 7 = 0 touches y-axis

Statement Il The circle 2 4+ y? + 6z + 4y — 7 = 0 touches x-axis

Which of the following is a correct statement ?

A.Both | and Il are true

B. Neither I nor Il is true


https://dl.doubtnut.com/l/_QoplShH1FQTn
https://dl.doubtnut.com/l/_qLjjDXIG7muN

C.lis true, Il is false

D. lis false, Il is true

Answer: B

o Watch Video Solution

31. Find the length of the tangent form

(1, 3) to the circle z* + y* — 2z + 4y — 11 = 0.
Al
B.2
C.3

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qLjjDXIG7muN
https://dl.doubtnut.com/l/_OCfq1jVX5PAo
https://dl.doubtnut.com/l/_ihsMt9DW0uIF

32.1f £ — y + 1 = 0 meets the circle 2> + > +y—1=0at Aand B,
then the equation of the circle with AB as diameter is

A.2(:1:2+y2) +3z—-y+1=0

B.2(z" +¢°) +3z —y+2=10

c2(z?+y°) +3z—-y+3=0

D.z’ + ¢y + 3z —y+1=0

Answer: A

o Watch Video Solution

33.If y=3x is a tangent to a circle with centre (1,1) then the other tangent

drawn through (0,0) to the circle is

A 3y=x

B.y=-3x

C.y=2x


https://dl.doubtnut.com/l/_ihsMt9DW0uIF
https://dl.doubtnut.com/l/_Jayugz8BjQCC

D.y=-2x

Answer: A

° Watch Video Solution

34. Which of the following equation gives a circle ?

A.r = 2sinf
B.r2cos20 = 1
C.7(4cos @ + 5sinf) = 3

D.5 = 1"(1 + \/50059)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Jayugz8BjQCC
https://dl.doubtnut.com/l/_hnrbZBwpcJRY

35. If Py,P,,P; are the perimeters of the three circles
2 2 _ 2 2 _ 2 2
x*+y +8 —6y=0,42" + 4y —4x — 12y — 186 =0 and =° + y~ — 6
respectively, then
AP <P <P
B.PL< Py < Py
CP<Pa< P

D.P, < P3< P

Answer: B

o Watch Video Solution

36. The centre of the circle r* — 4r(cos @ + sinf) — 4 = 0 in cartesian

coordinates is

A (1,7)

B. (-1,-1)


https://dl.doubtnut.com/l/_apCcKeTdjFXa
https://dl.doubtnut.com/l/_TDdjrYQ1OP40

C.(2,2)

D. (-2,-2)

Answer: C

o Watch Video Solution

37.The radius of the circle 7 = \/3siné + cos @ is

Al
B.2
C.3

D.4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TDdjrYQ1OP40
https://dl.doubtnut.com/l/_aYjIMWnGZ27T

38. The number of circles that touches all the three lines x+y-1=0, x-y-1=0

and y+1=0 is

A.2

B.3

C.4

D.1

Answer: C

o Watch Video Solution

39. If the line 3x-2y + 6=0 meets X-axis and Y-axis respectively at A and B,
then the equalion of the circle with radius AB and centre at A. is

Az>+y +424+9=0

B.a’+ ¢y +4x-9=0

Czl+y’+4z+4=0


https://dl.doubtnut.com/l/_MdEoM7VdTLYp
https://dl.doubtnut.com/l/_Q2MujCTGzbjr

D.z’+y? +4z —4=0

Answer: B

° Watch Video Solution

40. A line | meets the circle z2 + y2 = 61in A, B and P(-5,6) is such that
PA =PB =10 . Then the quation of | is

A.5x + 6y +11=0

B.5x-6y-11=0

C.5x-6y+11=0

D.5x-6y+12=0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2MujCTGzbjr
https://dl.doubtnut.com/l/_KhxWwe00g3Yj

41. If (1, a), (b, 2) are conjugate points with renpcet to the circle
z? + y? = 25, then 4a+2b=

A. 25

B. 50

C.100

D. 150

Answer: B

o Watch Video Solution

42.If P is a point such that the ratio of the square of the lengths of the
tangents from R to the circles
2?4+’ +20 —4y—20=0and x> +9°> —4dx +2y—44=01is 2 : 3,

then the locus of P is a circle with centre

A.(7,-8)


https://dl.doubtnut.com/l/_45Hwydc2c82c
https://dl.doubtnut.com/l/_BKGJPBAJtsq1

B. (-7, 8)

C.(7,+8)

D. (-7,-8)

Answer: B

° View Text Solution

43.1f 5x - 12y + 10 = 0 and 12y - 5x + 16 = O are two tangents to a circle,

then the radius of the circle is

Al
B.2
C.4

D.6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BKGJPBAJtsq1
https://dl.doubtnut.com/l/_mMqptyIg3ubr

44. The equation of the circle of radius 5 and touching the coordinate
axes in third quadrant is
2 2
A(x—5)"+(y+5) =25
B.(z +5) + (y+5)° = 25
Cr+4°+@y+4*=2

D. (z + 6)° + (y + 6)> = 25

Answer: B

o Watch Video Solution

45.The radius of the larger circle lying in the first quadrant and touching

the line 4x + 3y - 12 = 0 and the coordinate axes is

A5

B.6


https://dl.doubtnut.com/l/_mMqptyIg3ubr
https://dl.doubtnut.com/l/_yiKzDGkA09QB
https://dl.doubtnut.com/l/_AIa7Q1VXnfxm

C.7

D.8

Answer: B

o Watch Video Solution

46.The four distinct points (0, 0), (2, 0), (O, -2) and (k, -2) are concyclic if k

is equal t

A3

B.1

D.2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AIa7Q1VXnfxm
https://dl.doubtnut.com/l/_mnsXr4oNCXsW
https://dl.doubtnut.com/l/_Jj8gzqZDX7nA

47. A line is at a constant distance c from the origin and meets the
coordinate axes at A and B. The locus of the centre of the circle passing
through, A, B, is
Az?+ y2 +
B.z% 4 ¢* + 2¢°
C.c 2= l(m_z + y_z)
' 4

D.z? + y? = 4c?

Answer: C

o Watch Video Solution

48.The line y = mx + c intercepts the circle z? + y? = 7% in two distinct

points, if

A.7°\/1+m2<c<7"\/1+m2
B.c < —m/l—i—m2


https://dl.doubtnut.com/l/_Jj8gzqZDX7nA
https://dl.doubtnut.com/l/_lH9HpCfF6mr0

C.c<r\/1—i—m2

D. None of the above

Answer: A

o View Text Solution

49, The equation of the normal to the circle z? + 3% + 6z + 4y — 3 =0
at (1-2) to is

Ay+1=0

B.y+2=0

Cy+3=0

D.y-2=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lH9HpCfF6mr0
https://dl.doubtnut.com/l/_79r697kbCjsw
https://dl.doubtnut.com/l/_i1XKDR8r0zaG

50. The number of circles that touch all the straight lines x +y=4,x-y =
2andy=2,is

A1l

B.2

C.3

D.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_i1XKDR8r0zaG

